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QUESTION 1

What is the default behavior when drilling down on an edge in a crosstab report?
A. The level drilled on is replaced with the entire level below it.

B. The edge expression is replaced with the children of the item drilled on.

C. All edge expressions of the crosstab are replaced with their children.

D. The edge expression is changed to another item in the query.

Correct Answer: B

QUESTION 2

In a crosstab, Campaign is in the rows area, Order method type is in the columns area, and Quantity is the measure.
Campaign and Order method type are specified in the query. The report runs, displaying quantity valuesfor all years.

Why does this happen?

A. The dimension member from that dimension is implied.

B. The order method member from that dimension is implied.
C. The aggregate member from that dimension is implied.

D. The default member from that dimensionis implied.

Correct Answer: D

QUESTION 3

Can a prompt be used in the expression of a slicer?

A. Yes, if the correct syntax is used.

B. No, the slicer syntax is not compatible with prompt syntax.
C. Yes, if the slicer is a hierarchy.

D. No, the slicer must be manually created by the report author.

Correct Answer: A

QUESTION 4
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To display all individual campaigns in a crosstabreport, a report author could use the expression set([TrailChef
Campaign],[EverGlow Campaign],[Course Pro Campaign]). Instead, the report author decides to use the parent member
of the campaigns in the set expression "children([All Campaigns])".

Which statement is true about the method that was used?

A. In the future, when a campaign is deleted or new ones are added, the report author must modify the expression.

B. In the future, when a campaign is deleted or new ones are added, the unmodified expression will be valid.

C. The report author should not have used the method chosen, as the first method is best in this situation.

D. To be accurate, the report author should avoid using a set expression.

Correct Answer: B

QUESTION 5

Which of the following statements is true about a slicer?

A. It keeps the summary column in the report, and removes the detail columns.
B. It affects the values of the cells of the report but not the rows or columns.

C. It determines which set of members are displayed onthe edges of the report.
D. It removes all blank rows in the report to make it more focused.

Correct Answer: B
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